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Question Number : 1 Question Id : 6806791501 Question Type: MCQ

Correct: 1 Wrong: 0

'Barren Island" which is the only active Volcano in India is situated in which part of India?

Options:

1. Andarman-MNicobar
2. Lakshadwesp

=. Rajasthan

4. Chattisgarh

Question Number : 1 Question Id : 6806791501 Question Type: MCQ

Correct: 1 Wrong: 0
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Question Number : 2 Question Id : 6806791502 Question Type: MCQ
Correct: 1 Wrong: 0

Armnerican Presidential Elections are held at, every ———————- Vadrs
Options:

1.4

2.5

3B

4. =

Question Number : 2 Question Id : 6806791502 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 3 Question Id : 6806791503 Question Type: MCQ
Correct: 1 Wrong: 0
The 100th Constitutional Armendrnent rade in 2015 15 pertaining o

Options:

1. National Judicial Appointrnents Cormurission

2. Cooperative S0cieties

3. Boundary Adjustrment between India and Bangladesh
4. Anti-defection Law

Question Number : 3 Question Id : 6806791503 Question Type: MCQ
Correct: 1 Wrong: O
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Question Number : 4 Question Id : 6806791504 Question Type: MCQ

Correct: 1 Wrong: 0

Who is the first Wormen appoirnted recently as the Director General of the Sashastra Seerma Bal (S5B)?
Options:

1. Damayanti 5en

2. Aruna Bahuguna



3. Wirmla Mehra
4. Archana Eamasundaram

Question Number : 4 Question Id : 6806791504 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 5 Question Id : 6806791505 Question Type: MCQ
Correct: 1 Wrong: 0

Who is the President of Cuba at present?

Options:

1. Raul Castro

Z. Fidel Zastro

2. Alberto Herrera

4, Tormas Estrada Falima

Question Number : 5 Question Id : 6806791505 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 6 Question Id : 6806791506 Question Type: MCQ
Correct: 1 Wrong: 0
what is the present name of the ERICS Development Bank?

Options:

1. World Developrrnent Barnlk

2. Mew Developrmnent Banl

3. Buro-Asia Developrment Bank
4. Asia-aAfrica Developrnent Eanlk

Question Number : 6 Question Id : 6806791506 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 7 Question Id : 6806791507 Question Type: MCQ
Correct: 1 Wrong: O
Wwhich film was selected as the Best Picture in the 87th Academy (Oscar) Awards for the year 20147

Options:

1. The Theory of Everything
2. 5till Alice

3. Birdman

4. Wild Tales

Question Number : 7 Question Id : 6806791507 Question Type: MCQ
Correct: 1 Wrong: 0

878 ©5rddn (s5) sofod® 2014 Sod4ris &dd Higon Jousd Higo?

Options:

L & Bosod P 20580 (The Theory of Every thing)
5 28 =T (Sull Alice)

= 2gSrs (Birdman)

4 3G &y (Wild Tales)

Question Number : 8 Question Id : 6806791508 Question Type: MCQ

Correct: 1 Wrong: 0

Who won the Men's Singles Title in the 2015 Wimbledon Tennis Charnpionship?
Options:

1. Rafael Nadal

Zz. Roger Federer

=, Nowals Dyjolovic

4. Andy Murray

Question Number : 8 Question Id : 6806791508 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 9 Question Id : 6806791509 Question Type: MCQ
Correct: 1 Wrong: 0
"T-Hub" an Initiative of Telangana State Government is

Options:



1. a technology incubation centre to promote entreprensurship in the state
2. a social service certre to prormote social justice

3. an industrial park to encourage inverntions

4. a software park to encourage IT industry only

Question Number : 9 Question Id : 6806791509 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 10 Question Id : 6806791510 Question Type: MCQ

Correct: 1 Wrong: 0

ST (Goods and Services Tax), the proposad tax reform by the Central Governmment, is related prirrarily o
Options:

1. Direct Taxes

2 In-direct Taxes

. Sovereign Taxes

4. Foreigr Taxes

Question Number : 10 Question Id : 6806791510 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 11 Question Id : 6806791511 Question Type: MCQ
Correct: 1 Wrong: 0

which of the following Government schemes entered the Guinness World Records for causing the opening of
the most bank acCcounts in one week?

Options:

1. Pradhan Manthri Sukanya Sarmrddi Yojana

2. Pradhan Manthri Beti Bachao, Beti Padhao Yojana
2. Pradhan Manthri Jandhan Yojna (PMIDY)

4. Pradharn Manthri Suralsha Bheerna Yojana (PM3EY)

Question Number : 11 Question Id : 6806791511 Question Type: MCQ

Correct: 1 Wrong: Ohttps://www.freshersnow.com/previous-year-question-papers/
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Question Number : 12 Question Id : 6806791512 Question Type: MCQ

Correct: 1 Wrong: 0

The Anti-tanl: missile ™ag' can hit the target on land within a range of
Options:

1. 1Km

2. 2Km

3 ZKm

4. 4 kKm

Question Number : 12 Question Id : 6806791512 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 13 Question Id : 6806791513 Question Type: MCQ

Correct: 1 Wrong: 0

Who 15 the presernt Chalrmar of the Indian Prermier League (JFPL) Governing Council?
Options:

1. Anarag Thalur

2. Sourav Ganguly

=. Rajeew Shukla

4. Anirudh Chowdhary

Question Number : 13 Question Id : 6806791513 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 14 Question Id : 6806791514 Question Type: MCQ
Correct: 1 Wrong: 0
Who was crowred as the Miss World for the Year 20157

Options:

1. Eolene Strauss
2. Kristina Ealkiu
. Mireia Lalaguna
4. Catharina Choi

Question Number : 14 Question Id : 6806791514 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 15 Question Id : 6806791515 Question Type: MCQ

Correct: 1 Wrong: O

D MNageshwar Reddy who was awarded 'Fadma Ehushan' recently is related to the field of
Options:

1. Journalism

2. Literature

=. Education

4 Medicine

Question Number : 15 Question Id : 6806791515 Question Type: MCQ
Correct: 1 Wrong: 0

2t Sﬁﬁéaijﬂﬁeﬁ Eﬁﬁgé.} Fodd &.J—ﬁ%ﬂgﬁ'@% £ SomaE Sodd omh?

Options:

1 ac:i:.‘@ao

5 c‘i‘r-&r“f:égo

]

[e2s]

g, 4

[l

4, 2980

Question Number : 16 Question Id : 6806791516 Question Type: MCQ
Correct: 1 Wrong: 0

The United Nations Climate Change Conference (COP-21 or CMP-11) was held in November-December 2015 in
Options:

1. Paris

2. London

. Madrid

4. Wew Delhi

https://lwww.freshersnow.com/previous-year-question-papers/



Question Number : 16 Question Id : 6806791516 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 17 Question Id : 6806791517 Question Type: MCQ
Correct: 1 Wrong: 0

The most brutal form of the [slamic State Which is a Sunni Muslim Movernent that gained ground in Iraq and
Svria after the fall of Saddam Hussain is

Options:

1. Islarnic State of Iraq and the Levant (5IL)
2. Al-Cuaeda

2. Taliban

4. Khilafath—Caliphate

Question Number : 17 Question Id : 6806791517 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 18 Question Id : 6806791518 Question Type: MCQ
Correct: 1 Wrong: 0

The MNobel Peace Prize for the vear 2015 was awarded to
Options:

1. Lin Hiaoho

2. Natioral Dialogus Cuartet of Tunisia

2. Kailash Satyarthi & Malala Yousafijai

4. Crganisation for the Prohibition of Chermical Weapons

Question Number : 18 Question Id : 6806791518 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 19 Question Id : 6806791519 Question Type: MCQ
Correct: 1 Wrong: 0
The Dictator of North Korea at present is

Options:

1. Kim Jorg-Un

2. Kimn Jong-il

= Kim-II-5Sung

4. Kim-Tu-Eong

Question Number : 19 Question Id : 6806791519 Question Type: MCQ
Correct: 1 Wrong: O
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Question Number : 20 Question Id : 6806791520 Question Type: MCQ
Correct: 1 Wrong: 0

Who authored the famous novel 'The Fountain Head' ?
Options:

1. George Orveell

2. Charles Dickens

2. Cliver oldsmith

4. Ayn Rand

Question Number : 20 Question Id : 6806791520 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 21 Question Id : 6806791521 Question Type: MCQ

Correct: 1 Wrong: 0

The name of the former Bombay nurse who died in May 2015 after spending 42 years in Bed in a Vegetative
state after a sexual assaultin 1972

Options:

1. Aruna Stephens

> aruna Dambekadttps://www.freshersnow.com/previous-year-question-papers/



= Aruna Rodrigues
4. Aruna Shanbaug

Question Number : 21 Question Id : 6806791521 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 22 Question Id : 6806791522 Question Type: MCQ
Correct: 1 Wrong: 0

The name of the Organisation founded by the Nobel Laureate Kailash Satyarthi, which works for a child
friendly society is

Options:

1. MW Foundation

2. Bachpan Bachao Andolan
=, Arushi

4. Child Relief and You (ZREY)

Question Number : 22 Question Id : 6806791522 Question Type: MCQ
Correct: 1 Wrong: 0

When a Bill drawn and accepted on 73™ October, 2006 for three months will due date
for payment on -

Options:

26" Jamary, 2007
23" January, 2007
25" Jamary, 2007

27 Jamuary, 2007

Question Number : 23 Question Id : 6806791523 Question Type: MCQ
Correct: 1 Wrong: O
Gajendra Chauhan, whose appointment was in news, is the Chairman of 7

Options:

1. Indian Council of Historical Research
2. Children's Filim Society, India

2. Filim and Television [nstitute of India
4. The Energy and Resources [nstitute

Question Number : 23 Question Id : 6806791523 Question Type: MCQ
Correct: 1 Wrong: 0



When a Bill drawn and accepted on 33 October, 2006 for three months will due date
for payment on -

Options:

26 Jamuary. 2007
23" Jamuary, 2007
25" Jamuary. 2007

27" Jammary, 2007

Question Number : 24 Question Id : 6806791524 Question Type: MCQ
Correct: 1 Wrong: 0
The 14th and Current Attorney General of India is

Options:

1. Milon K. Banerjes

2. Mukul Rohtagi

=, Goolam Yahanavathi
4. 50l Soralji

Question Number : 24 Question Id : 6806791524 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 25 Question Id : 6806791525 Question Type: MCQ
Correct: 1 Wrong: 0

E.K Laxman who passed avay recently was a famous
Options:

1. Journalist

2. Medical Doctor

2. Cartoonist

4. Writer

Question Number : 25 Question Id : 6806791525 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 26 Question Id : 6806791526 Question Type: MCQ
Correct: 1 Wrong: 0

which Hyderabadi Cricketer was the Coach of the Ireland Cricket team for the 2011 [CC World Cup?
Options:

1. Wenkatapathy Eaju

2. M.V Marasimha Fao

2 MV . Sridhar

4. Shivalal Yadav

Question Number : 26 Question Id : 6806791526 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 27 Question Id : 6806791527 Question Type: MCQ
Correct: 1 Wrong: 0

Citrus Canker disease 1s causad by

Options:

1. Wirus

z. Fungi

= Bacteria

4. Mosquito

Question Number : 27 Question Id : 6806791527 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 28 Question Id : 6806791528 Question Type: MCQ
Correct: 1 Wrong: 0
Good Electricity conductor amon the following

Options:
1. Gold
2. Copper
2. Silwer
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Question Number : 28 Question Id : 6806791528 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 29 Question Id : 6806791529 Question Type: MCQ
Correct: 1 Wrong: O
Skin pigmentation 15 rmainly due o

Options:

1. Lymphocytes
2. Melanocytes
3. Monocytes

4. Leucocytes

Question Number : 29 Question Id : 6806791529 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 30 Question Id : 6806791530 Question Type: MCQ
Correct: 1 Wrong: 0

Juinine is obtained from which part of the plant?

Options:

1. Stermn Bark

2. Leawes

2. Roots

4. Fruit

Question Number : 30 Question Id : 6806791530 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 31 Question Id : 6806791531 Question Type: MCQ
Correct: 1 Wrong: 0

YVaccine for Rabis was discoverad by which scientist?
Options:

1. J.].Baird

2. Louis Fasteur

2. John Gutten Burg

4. Williarm Harvey

Question Number : 31 Question Id : 6806791531 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 32 Question Id : 6806791532 Question Type: MCQ
Correct: 1 Wrong: 0

zall Bladder stones are deposits of

Options:

1. Calcium

2. Phosphorus

3 Glucose

4. Cholesterol

Question Number : 32 Question Id : 6806791532 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 33 Question Id : 6806791533 Question Type: MCQ
Correct: 1 Wrong: 0
Plants get Mitrogen from

Options:
1. Kain
2. Alr

= Roclk
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Question Number : 33 Question Id : 6806791533 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 34 Question Id : 6806791534 Question Type: MCQ
Correct: 1 Wrong: O
The disease carrving agents are called

Options:

1. Pathogens
2. Wectors

3. Placids

4. Scalars

Question Number : 34 Question Id : 6806791534 Question Type: MCQ
Correct: 1 Wrong: 0
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Options:
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Question Number : 35 Question Id : 6806791535 Question Type: MCQ
Correct: 1 Wrong: 0
which of the following is a Eiodiesel plant?

Options:

1. Jatrapha curcas

2. Terrminalia catupa

3. Pierocarpus marsupiui
4. Ricinus

Question Number : 35 Question Id : 6806791535 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 36 Question Id : 6806791536 Question Type: MCQ
Correct: 1 Wrong: 0
Gobar gas contains

Options:

1. Carborn dicxide

2. Metharne

=. Butane

4. Carborn rmonoxide

Question Number : 36 Question Id : 6806791536 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 37 Question Id : 6806791537 Question Type: MCQ
Correct: 1 Wrong: 0
"Tsunami” is derived from

Options:
1. Latin
2. Grecl
2. Japarnese
4, Sanskrit

Question Number : 37 Question Id : 6806791537 Question Type: MCQ
Correct: 1 Wrong: O
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Question Number : 38 Question Id : 6806791538 Question Type: MCQ
Correct: 1 Wrong: 0

The Indian Biodiversity Hotspot

Options:

1. Aravali Hills

2. Western Ghats



3. Papa Ghats
4 Red Hills

Question Number : 38 Question Id : 6806791538 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 39 Question Id : 6806791539 Question Type: MCQ
Correct: 1 Wrong: 0
The 2015 United Nations Climate Change Zonference has agread to reduce the Global Temperature well below

Options:

Question Number : 39 Question Id : 6806791539 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 40 Question Id : 6806791540 Question Type: MCQ
Correct: 1 Wrong: 0

The first movie of Shyam Benegal produced in Telangana
Options:

1. Nishant

2. Bazar

=. Bobby

4. Anloar

Question Number : 40 Question Id : 6806791540 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 41 Question Id : 6806791541 Question Type: MCQ
Correct: 1 Wrong: 0

The Hyderabadi actrass who 2ot 'Padma Sri' aveard 15
Options:

1. Telangana Shaluntala

2 Tabu

=, Aditi Rao Hydari

<. Dia Mirza

Question Number : 41 Question Id : 6806791541 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 42 Question Id : 6806791542 Question Type: MCQ
Correct: 1 Wrong: 0
What 15 'Cneirology!

Options:

1. The scientific study of dreams
2. The scientific study of birds
2. The scientific study of fears

4. The scientific study of insects

Question Number : 42 Question Id : 6806791542 Question Type: MCQ
Correct: 1 Wrong: O
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Question Number : 43 Question Id : 6806791543 Question Type: MCQ



Correct: 1 Wrong: 0
Where was Andhra Samvardhini Granthalaya started in 19057

Options:

1. Warangal

2. MNalgonda

2. Secunderabad
4. Hyderabad

Question Number : 43 Question Id : 6806791543 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 44 Question Id : 6806791544 Question Type: MCQ

Correct: 1 Wrong: 0

which of the following dance forms is usually performed by males and also called 'Dance of Warriors' ?
Options:

1. Kuchipudi

2. Eharatha MNatyam

2. Perini Thandawvam

4. Lawvari

Question Number : 44 Question Id : 6806791544 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 45 Question Id : 6806791545 Question Type: MCQ
Correct: 1 Wrong: 0

The large Community of Craftsmen in Mirmal of Adilabad district is referred to as
Options:

1. Iklat

2. Trilinga

=. Farvata

4. Naklkash

Question Number : 45 Question Id : 6806791545 Question Type: MCQ



Correct: 1 Wrong: 0
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Question Number : 46 Question Id : 6806791546 Question Type: MCQ

Correct: 1 Wrong: O

When did the traditional Pocharmpally Saree receive the Geographic Indication (G0 status?
Options:

1.in 2004

2. 1n 2005

3.1 2006

4.1 2007

Question Number : 46 Question Id : 6806791546 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 47 Question Id : 6806791547 Question Type: MCQ
Correct: 1 Wrong: O

Where are MNavabrahma ternples situated in Telangana State?
Options:

1. Vargal, Medal: District

2. Keesara, Kanga Reddy District

3. Alarmpar, Mahaboobnagar Castrict

4. Wermulawada, Karimnagar District

Question Number : 47 Question Id : 6806791547 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 48 Question Id : 6806791548 Question Type: MCQ
Correct: 1 Wrong: 0
The period of high inflation, low econormic growth and high unemployment is termed as

Options:

1. Stagnation

2. Stagflation

2. Reflation

4. Take-off stage

Question Number : 48 Question Id : 6806791548 Question Type: MCQ
Correct: 1 Wrong: O
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Question Number : 49 Question Id : 6806791549 Question Type: MCQ
Correct: 1 Wrong: 0
If total expenditure is more than receipts of a country, we get

Options:

1. Revenue deficit
2. Budget deficit
3. Fiscal deficit

4. Primary deficit

Question Number : 49 Question Id : 6806791549 Question Type: MCQ
Correct: 1 Wrong: 0

0.8 370 Buso oo gan Bogo Hpairoo ISy ST 08 STHB?

Options:

L 3355"5 e5% ¢

o a;@éf 2%t
E95030% 50

4 (argdng e5% 8

Question Number : 50 Question Id : 6806791550 Question Type: MCQ
Correct: 1 Wrong: O
Majority share of National Income in India during the last 15 years is provided by

Options:

1. Agricultural sector
2. Industrial sector
3. Service sector

4. Governrnent sector

Question Number : 50 Question Id : 6806791550 Question Type: MCQ



Correct: 1 Wrong: 0
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Question Number : 51 Question Id : 6806791551 Question Type: MCQ
Correct: 1 Wrong: 0

In which method, the market value of all final goods and services produced is added in a country in a year to
measure National Income?

Options:

1. Cutput method

2. Income method

3. Expenditure method
4. Point method

Question Number : 51 Question Id : 6806791551 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 52 Question Id : 6806791552 Question Type: MCQ
Correct: 1 Wrong: O

The project which has been proposed by Telangana Government to irrigate 3. 41 lakh acres of chronically
flucride and drought affected areas of MNalgonda district and a part of Mahabubnagar district is

Options:

1. Jurala-Falkhala

2. Palernvagu Project

3. Swarna Project

4. MNalklalagandi Project

Question Number : 52 Question Id : 6806791552 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 53 Question Id : 6806791553 Question Type: MCQ
Correct: 1 Wrong: 0

District wise analysis of micro, small and medium scale industries in Telangana in recent years indicates that
more than two fifths of investment (40%) was made in

Options:

1. Rangaraddy district

2. Medal: district

2. Mahabubnagar district
4. Hyderabad district

Question Number : 53 Question Id : 6806791553 Question Type: MCQ
Correct: 1 Wrong: O
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Question Number : 54 Question Id : 6806791554 Question Type: MCQ

Correct: 1 Wrong: 0

As per the 2011 census, in Telangana, fermnale, male and total literacy rates were the lowest in the district of
Options:

1. Hyderabad

Z. Mahabubnagar

. Medal

4. Mizamakad

Question Number : 54 Question Id : 6806791554 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 55 Question Id : 6806791555 Question Type: MCQ
Correct: 1 Wrong: 0

During the year 2014-15, the sectoral analysis reveals that the growth of Gross State Domestic Product (GSDF)
in Telangana is highest in

Options:

1. Agricultural sector
2. Industrial sector
3. Services sector

4, GOVErTITent sector

Question Number : 55 Question Id : 6806791555 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 56 Question Id : 6806791556 Question Type: MCQ
Correct: 1 Wrong: 0

The financial assistance given under Ambedkar Overseas Vidya MNidhi to SC students in Telangana is
Options:

1. 5 Lakh Rupees

Zz. 10 Lakh Rupees

2. 15 Lakh Rupees

4. 20 Lakh Rupees

Question Number : 56 Question Id : 6806791556 Question Type: MCQ
Correct: 1 Wrong: O
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Question Number : 57 Question Id : 6806791557 Question Type: MCQ
Correct: 1 Wrong: 0

The amount of loan extended to farmers without any interest upto 180 days under the Eythu Bandhu
Pathalkam in Telangana is

Options:

1. One Lakh Fupees

2. Two Lakh Rupees

2. Fifty Thousand Rupees



4. Three Lakh Eupees

Question Number : 57 Question Id : 6806791557 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 58 Question Id : 6806791558 Question Type: MCQ
Correct: 1 Wrong: 0
Eight to Education Act does not contain

Options:

l.p Approaching Court of Law against Private Schools for non-implementation
2. File a complaint against any official for non-implementation

2. Free and Compulsory education to children below 14 years

4. Reservation of seats in Private schools

Question Number : 58 Question Id : 6806791558 Question Type: MCQ
Correct: 1 Wrong: O
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Question Number : 59 Question Id : 6806791559 Question Type: MCQ
Correct: 1 Wrong: 0
The Water Grid project in Telangana is known as

Options:

1. Mission Kalativa

Z. Mission Bhageeratha
3. Mission Godavari

4, Mission Trushna

Question Number : 59 Question Id : 6806791559 Question Type: MCQ
Correct: 1 Wrong: O

B8womre PR od D TLHNE |FBESH J500 HoodyTE?
Options:

1 Dot S T EBOI



5 D35 SASE
= Dade ATras

, IS 8y

Question Number : 60 Question Id : 6806791560 Question Type: MCQ
Correct: 1 Wrong: O
The Scherne "Pradhan Mantri Aadarsh Gram Yojana" (PMAGY) aims at

Options:

1.p Integrated developrnent of 1000 Scheduled Castes majority villages
2. Integrated developrment of 1000 most backward villages

3 Integrated developrment of all drought-prone areas

4 Integrated development of all tribal areas

Question Number : 60 Question Id : 6806791560 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 61 Question Id : 6806791561 Question Type: MCQ

Correct: 1 Wrong: 0

Who 15 the presernt Chairmarn of the MNational Comurassion for Scheduled Castes?
Options:

1. Dilip Singh Buria

Z. Bizay Sonlkar Shastri

2. Bhuta Singh

4. Dr PL Punia

Question Number : 61 Question Id : 6806791561 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 62 Question Id : 6806791562 Question Type: MCQ

Correct: 1 Wrong: 0

which of the following rights was described by Dr. E.R. Ambedkar as 'the heart and soul of the Constitution' ?
Options:

1. Right to Equality



2. Right to Constitutional Remedies
2. Right to Freedom of Religion
4. Right to Property

Question Number : 62 Question Id : 6806791562 Question Type: MCQ
Correct: 1 Wrong: 0

S0 atieS® ) S0 amn §.es5.m088),5 ‘Tergotio s, Srasoo SaBasn Eé&'ﬁ“ 2350 H?

Options:

L S8 8y

5 -::-‘-aa*go.”} 28T arEa)

5 o8 drgSo|Sg) TE,

4 es5) B0y

Question Number : 63 Question Id : 6806791563 Question Type: MCQ
Correct: 1 Wrong: 0

Howr miany times can the President of India seek re-election?
Options:

1. Cnce

Z. Thrice

. Twrice

4. any nurmber of tirmnes

Question Number : 63 Question Id : 6806791563 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 64 Question Id : 6806791564 Question Type: MCQ
Correct: 1 Wrong: 0
"MNarmada Bachao Andolan” is a

Options:

1. Trikal Mowernent

2. Environmental Mowerment
3. Peasants Moverrert

4. Forest Dwellers Mowernernt

Question Number : 64 Question Id : 6806791564 Question Type: MCQ
Correct: 1 Wrong: O
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Question Number : 65 Question Id : 6806791565 Question Type: MCQ
Correct: 1 Wrong: 0
who recormrmnended for establishment of the Ombudsman type of Institutions in India?

Options:

1. Justice F.E.Gajerndra Gadlkar
2. Justice Alladi Kuppuswary
2. Justice ¥ ¥ . Chandrachud

4. Justice Fazal Ali

Question Number : 65 Question Id : 6806791565 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 66 Question Id : 6806791566 Question Type: MCQ
Correct: 1 Wrong: 0

First Vigilance Cornurissionear of India was

Options:

1. MT.Raju

2. Santhanam

2. M. Srinivas Eaju

4. KW .Chowdhary

Question Number : 66 Question Id : 6806791566 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 67 Question Id : 6806791567 Question Type: MCQ
Correct: 1 Wrong: 0
When was the expression "Unity and Integrity of the MNation" added in the Preamble to the Constitution?

Options:



Jin 1352
JIn 1376
LI 1378
il 1335

e LM

Question Number : 67 Question Id : 6806791567 Question Type: MCQ
Correct: 1 Wrong: 0
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Options:
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Question Number : 68 Question Id : 6806791568 Question Type: MCQ
Correct: 1 Wrong: 0
The term 'BEahujan' was first used by

Options:

1. Mavawvathi

2. Karnsiram

= Buddha

4. Dr BE.R.Armbedkar

Question Number : 68 Question Id : 6806791568 Question Type: MCQ
Correct: 1 Wrong: O
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Question Number : 69 Question Id : 6806791569 Question Type: MCQ
Correct: 1 Wrong: O
Which one of these states does not hawve a Nuclear Power Flant?

Options:

1 TIttar Pradesh
2. Gujarat

3 Karnataka

4. Kerala

Question Number : 69 Question Id : 6806791569 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 70 Question Id : 6806791570 Question Type: MCQ
Correct: 1 Wrong: 0
iZoriolis force is zero at

Options:

1. Tropic of Capricorn
2. Tropic of Cancer

2. Equator

4, Arctic Circle

Question Number : 70 Question Id : 6806791570 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 71 Question Id : 6806791571 Question Type: MCQ
Correct: 1 Wrong: 0

Lahul and Spiti Valleys are located in the State of

Options:

1. Himachal Pradesh

2. Assam

2. Jamoma & Kashmir

4, Arunachal Pradesh

Question Number : 71 Question Id : 6806791571 Question Type: MCQ
Correct: 1 Wrong: 0

e Sob ot %J;_-I& g5 odoen A G‘-@o‘?

Options:

| THrIESHT

o Ecﬁj&o

= aa.;":u:ﬁ'é Hab OB 5’“@&5

4 ©OETIGSET

Question Number : 72 Question Id : 6806791572 Question Type: MCQ
Correct: 1 Wrong: O

"Zawar" mines are famous for

Options:

1. 501d and Silver



2. Zinc and Lead
3. Copper
4. Mangarese

Question Number : 72 Question Id : 6806791572 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 73 Question Id : 6806791573 Question Type: MCQ
Correct: 1 Wrong: 0
The capacity of Ultra Mega Thermal Fower Project in India is (in Mega Watts)

Options:

1. 2000 MW and atbove
2. 2000 MW and abowe
3. 4000 MW and abowe
4. 5000 MW and above

Question Number : 73 Question Id : 6806791573 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 74 Question Id : 6806791574 Question Type: MCQ
Correct: 1 Wrong: O
Which part of China is the highest populated region?

Options:
1. MNorthern

2. Southern
2. Eastern
4 Western

Question Number : 74 Question Id : 6806791574 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 75 Question Id : 6806791575 Question Type: MCQ
Correct: 1 Wrong: O

which of the following Latitudes is a Great Circle

Options:

23— §

b | —
=

1.
o
rs

o 2
=. Polar Circle

-

4. Equator

Question Number : 75 Question Id : 6806791575 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 76 Question Id : 6806791576 Question Type: MCQ
Correct: 1 Wrong: 0

Which State has the largest acreage under Sugarcane in India?
Options:

1. Maharashtra

2. ttar Pradesh

3 Karnataka

4. Bihar

Question Number : 76 Question Id : 6806791576 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 77 Question Id : 6806791577 Question Type: MCQ
Correct: 1 Wrong: O
El Mino current flows along the coast of



Options:

1. South America
Z. Japan

2. Africa

4, Canada

Question Number : 77 Question Id : 6806791577 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 78 Question Id : 6806791578 Question Type: MCQ
Correct: 1 Wrong: 0
which one of these Public Sector Undertakings (PSUs) is NOT a ‘Maharatna'”?

Options:

1. Indian <il Corporation

2. Coal India Lirmnited

=. Hindustan Petroleurn Corporaticn
4. ONGC

Question Number : 78 Question Id : 6806791578 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 79 Question Id : 6806791579 Question Type: MCQ

Correct: 1 Wrong: O

What are the main population characteristics of the dereloped courntries?
Options:

1. Low birth rate, High death rate

2. High birth rate, Low death rate

3 Low birth rate, Low death rate

4. High birth rate, High death rate

Question Number : 79 Question Id : 6806791579 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 80 Question Id : 6806791580 Question Type: MCQ
Correct: 1 Wrong: O
'For a Living Planet' is the slogan of

Options:

1. Greer Peacea

2. Earth Surrorit, 1992
3. WWE

4. Fowoto Protocol

Question Number : 80 Question Id : 6806791580 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 81 Question Id : 6806791581 Question Type: MCQ
Correct: 1 Wrong: 0
In Telangana, decadal population growth rate is the highest during the period of

Options:
1.1961-71
2.1971-81
3 1981-91
4. 1991-2001

Question Number : 81 Question Id : 6806791581 Question Type: MCQ
Correct: 1 Wrong: O
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Options:

1.1961-71

2. 1971-8ul1

3. 1981-91

4. 1991-2001

Question Number : 82 Question Id : 6806791582 Question Type: MCQ
Correct: 1 Wrong: 0

which of the following states is the largest state in terms of geographical area?
Options:



1. Telangana
2. West Berigal
=. Bihar

4. Kerala

Question Number : 82 Question Id : 6806791582 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 83 Question Id : 6806791583 Question Type: MCQ
Correct: 1 Wrong: 0

Telangana State Forest Acaderny 15 located at

Options:

1. Mulugu

z. Rampalli

=. Dhulapalli

4. Kagaznagar

Question Number : 83 Question Id : 6806791583 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 84 Question Id : 6806791584 Question Type: MCQ
Correct: 1 Wrong: 0
Sirnapalli Hills are located in the district of

Options:

1. Adilabad

2. Mizarmabad

3. Mahabubnagar
4. Kharuram

Question Number : 84 Question Id : 6806791584 Question Type: MCQ
Correct: 1 Wrong: O
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Question Number : 85 Question Id : 6806791585 Question Type: MCQ

Correct: 1 Wrong: 0

The river water irrigation project constructed with Autornatic Siphon Technology in Telangana
Options:

1. Upper Manair

2. Kol Sagar

> Al Sagar

4. Sarla Sagar

Question Number : 85 Question Id : 6806791585 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 86 Question Id : 6806791586 Question Type: MCQ
Correct: 1 Wrong: 0
The proposed, Bhadradri Thermal Power Plant is located at

Options:

1. Manugura, Kharmrnam

2. Bhadrachalam, Ehammam
2. Palvancha, Khammumam

4. Kothagudern, Khammam

Question Number : 86 Question Id : 6806791586 Question Type: MCQ
Correct: 1 Wrong: O
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Question Number : 87 Question Id : 6806791587 Question Type: MCQ

Correct: 1 Wrong: 0

The head quarter of Southern Telangana Agro-clirnatic Zore 15 located at
Options:

1. Falem



2. Survapet
. Shadnagar
4. Bhuwvangiri

Question Number : 87 Question Id : 6806791587 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 88 Question Id : 6806791588 Question Type: MCQ
Correct: 1 Wrong: 0
Which Kakatiyva Eing issued the Motupalli Abhaya Sasanam ?

Options:

1. Rudradeva

2. Ganapatideva
2. Prataparudra
4. Mahadeva

Question Number : 88 Question Id : 6806791588 Question Type: MCQ
Correct: 1 Wrong: O
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Question Number : 89 Question Id : 6806791589 Question Type: MCQ
Correct: 1 Wrong: 0
Identify the Qutbshahi Sultan who built the famous 'Badhshahi Ashur Khana' in Madina area of Hyderabad

Options:

1. Sultan CQuli Cuthshah

2. Jamsheed Culi Sutbhshah
= Ibrahim Culi Qutbshah

4. Muharmmad Quli Qutlhshah

Question Number : 89 Question Id : 6806791589 Question Type: MCQ
Correct: 1 Wrong: 0

B0 ErESt ) HobT |TrogSos” wrddras BT 86008 Siifdra Serd JB60?

Options:
1 Soers 58 SHdodhar



5 moad S Hsdf
o =@ero - 500 - S

4 oS5 g6 - Badod

Question Number : 90 Question Id : 6806791590 Question Type: MCQ
Correct: 1 Wrong: 0
The Fight Point Forrmula was proclaimed by

Options:

1. Marri Chenna Reddy

2. Kasu Brahrmananda Reddy
3. 5mit. Indira Gandhi

4. Burgula Rama Frishna Fao

Question Number : 90 Question Id : 6806791590 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 91 Question Id : 6806791591 Question Type: MCQ
Correct: 1 Wrong: O
Wwho was the author of the Book 'They Burn' ?

Options:

1. T.V.MNarayana

2. Subedar Sayanna
= G.Rammappa

4. % Shyam Sundar

Question Number : 91 Question Id : 6806791591 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 92 Question Id : 6806791592 Question Type: MCQ
Correct: 1 Wrong: 0
Hayyat' was a

Options:



1. Urdu News paper

2. Hindi News paper

3. Marathi MNews paper
4. Kannada MNews paper

Question Number : 92 Question Id : 6806791592 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 93 Question Id : 6806791593 Question Type: MCQ
Correct: 1 Wrong: 0
When did K. Chandra Shekar Rao become the Deputy Speaker of the A P Legislature Assermnbly?

Options:
1. 1997
2. 1998
3. 1999
4. 1996

Question Number : 93 Question Id : 6806791593 Question Type: MCQ
Correct: 1 Wrong: 0

so|HSTT TL IS wTood Aargth HEEN Fuctiot) Sofinsod) JS5y6 dokdiodndata?
Options:
11997
2. 1998
31999
4. 1996

Question Number : 94 Question Id : 6806791594 Question Type: MCQ
Correct: 1 Wrong: 0

who founded the Talli Telangana Farty?

Options:

1. Wirnalakla

Z. Surepalli Sujatha

=, ¥ijaya shanti

4. K. Aruna

Question Number : 94 Question Id : 6806791594 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 95 Question Id : 6806791595 Question Type: MCQ
Correct: 1 Wrong: 0
Which cormmittes was constituted to inquire into the events related to the 13952 Mulld Moverment?

Options:

1. Bhargava Corrurittes

2. Justice Jagan Mohan Reddy Corrrrittes
=, Wanchu Cormrmittes

4. Tharkunde Cormrmittes

Question Number : 95 Question Id : 6806791595 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 96 Question Id : 6806791596 Question Type: MCQ
Correct: 1 Wrong: 0

who was the first Martyr of the Telangana Peasant Armed Struggle?
Options:

1. Doddi Komaraiah

2. Chityala Ailarroma

=. Doddi Mallaiah

4. B Krishnamoortii

Question Number : 96 Question Id : 6806791596 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 97 Question Id : 6806791597 Question Type: MCQ

Correct: 1 Wrong: 0

During the 1857 rewolt where did Begum Hazrat Mahal led the rewolt?
Options:

1. Bhopal



2. Lucknow
. Khanpur
4. Bareilly

Question Number : 97 Question Id : 6806791597 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 98 Question Id : 6806791598 Question Type: MCQ
Correct: 1 Wrong: O
The Calkanet Mission which wisited India in 1946 was led by

Options:

1. R.J Moore

2. &V Camphbell

3. Pethick Lawrence
4. David Warner

Question Number : 98 Question Id : 6806791598 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 99 Question Id : 6806791599 Question Type: MCQ
Correct: 1 Wrong: 0

which of the following Satyagarahas associated with the Civil Disobedience Movernent (1920-31) was led by
Gandhi?

Options:

1. Kheda Satyagraha

2. 5alt Satyagaraha

=. Bardoli Satyagraha

4. sAhmedabad Satyagraha

Question Number : 99 Question Id : 6806791599 Question Type: MCQ
Correct: 1 Wrong: O
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Question Number : 100 Question Id : 6806791600 Question Type: MCQ
Correct: 1 Wrong: 0
Wwho among the following founded the All India Scheduled Castes Federation?

Options:
1. Mahatma Gandlil

2. M.C Eajah
2. Dr BER. Ambedkar
4. Babu Jagjivanram

Question Number : 100 Question Id : 6806791600 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 101 Question Id : 6806791601 Question Type: MCQ
Correct: 1 Wrong: 0

The 'Rehnumal Mazdavyasan sabha' was a reformist association of
Options:

1. Muslirms

2. Christians

= Farsis

4. 5ikhs

Question Number : 101 Question Id : 6806791601 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 102 Question Id : 6806791602 Question Type: MCQ
Correct: 1 Wrong: 0



which one of the following was NOT asssociated with the Indian MNational Armmy?
Options:

1. G.5.Dhillon

2. Aruna Asaf Ali

2. Shah MNawaj Khan

4. P ¥ . Sahgal

Question Number : 102 Question Id ;: 6806791602 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 103 Question Id : 6806791603 Question Type: MCQ
Correct: 1 Wrong: 0

Kishori Shalti Yojana aims at

Options:

1. Empowering adolescent girls in the age group of 11-18 years
2. Empowering girls of all ages

= Empowering college going girls

4, Imparting Karate training to school going girls

Question Number : 103 Question Id : 6806791603 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 104 Question Id : 6806791604 Question Type: MCQ
Correct: 1 Wrong: 0

The Cormrnittee on the status of wormen was headed Ly
Options:

1. Mrinal Gore

2. Mamatha Benerjee

. Mary John

4. ¥ina Mazumdhar

Question Number : 104 Question Id : 6806791604 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 105 Question Id : 6806791605 Question Type: MCQ
Correct: 1 Wrong: 0

Social inclusion is adopted as growth strategy for the first time in the
Options:

1. Eth five year plan

2. 11th five year plan

2. Bth five vear plan

4. 10th five vear plan

Question Number : 105 Question Id ;: 6806791605 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 106 Question Id : 6806791606 Question Type: MCQ
Correct: 1 Wrong: 0
In1 the 'bar dancer' judgement, the Supreme Court

Options:

1. allowed the employment of wormen as dancers

2. prohibited the employment of wormen as dancers
2. allowed sorme of the hotels to employ dancers

4. allowed sorme forms of dance

Question Number : 106 Question Id : 6806791606 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 107 Question Id : 6806791607 Question Type: MCQ
Correct: 1 Wrong: 0

The MNational Cormrnission for wormen was set up in the year
Options:
11930
2. 1992
3. 199z
4. 1994

Question Number : 107 Question Id : 6806791607 Question Type: MCQ
Correct: 1 Wrong: O

@03 Soirer S @ Sodg)tod JontnBandod?
Options:
1. 1930
2 199z
3 1993
4 1994

Question Number : 108 Question Id : 6806791608 Question Type: MCQ
Correct: 1 Wrong: 0

The vear 2001 was announced by the Indian Government as
Options:

1. Girl Child Year

2. Wormen's Ermpowerment Year

2. Year of Girl Education

4. Year of the Empowerment of the disabled

Question Number : 108 Question Id : 6806791608 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 109 Question Id : 6806791609 Question Type: MCQ
Correct: 1 Wrong: 0

who was the first Cormmercial Mobile Service Provider in India?
Options:

1. Reliance MNet Conrnect

2. Tata Group Indicom

=, Modi Telestra's Mobilenet

4. BSML's Cell Orne

Question Number : 109 Question Id : 6806791609 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 110 Question Id : 6806791610 Question Type: MCQ
Correct: 1 Wrong: 0

Oy roorms is A business network started by 3 college dropout in India. The MNetworls is associated with
Options:

1. Working Wormens' Hostels

2. Tuition Classes

=. Hotel rooms

4. Start up ideas for college dropouts

Question Number : 110 Question Id : 6806791610 Question Type: MCQ
Correct: 1 Wrong: O
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Question Number : 111 Question Id : 6806791611 Question Type: MCQ
Correct: 1 Wrong: O

Wwhat should come in the place of question mark?
[Er2E99+473)+ (5537 X101 -437)] + 125+ 7 = 1234

Options:
1 =64

2. 245
3. 356
4. =46

Question Number : 111 Question Id : 6806791611 Question Type: MCQ
Correct: 1 Wrong: 0

ST rdod” wdn BiboB?
[(57T3x 99 +473)+ (537 x 101 - 437)] = 125+7 =1234
Options:
1. 364
2. 246
3. 356



4. =46

Question Number : 112 Question Id : 6806791612 Question Type: MCQ
Correct: 1 Wrong: 0

Pointing to a wornan in a photograph, a man says “she is the mother-in-law of the wife of the father of my
only son”. How the woman in the photograph related to the man?

Options:

1. Mother

2. Sister

= Wife

4. Sister-iri-law

Question Number : 112 Question Id : 6806791612 Question Type: MCQ
Correct: 1 Wrong: O
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Question Number : 113 Question Id : 6806791613 Question Type: MCQ
Correct: 1 Wrong: 0

If red is called vellow, vellow is called blue, blue is called white, white is called green, green is called pink and
pink is called purple, then what is the colour of sky?

Options:
1. Red
2. Elus
. White
4. Pink

Question Number : 113 Question Id : 6806791613 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 114 Question Id : 6806791614 Question Type: MCQ
Correct: 1 Wrong: 0



The present age of ¥’ is four times of his son . Five vears ago the age of ¥ was 7 times of the age of Y.
Wwhat will be total age of ¥ and Y seven vears from now?

Options:
1. 57
2. 40
3. 50
4 G4

Question Number : 114 Question Id : 6806791614 Question Type: MCQ

Correct: 1 Wrong: 0
K (| SSp8 So%oiy) 80 Bl Y Soidyfh Trendh Bin. o Sodg)Tre (880
K B0y w8l B8 Y Sciodyd I8 B, oEdd I8 Soddore Sdhad
K Sobosn Yo dwgo Ho%sy) Jos?

Options:
1. 57
2. 40
3. 50
4 &4

Question Number : 115 Question Id : 6806791615 Question Type: MCQ
Correct: 1 Wrong: 0

which of the following syrmbols should replace the question mark in the given expression in order to make the
expressions ‘K =H' is definitely true?
He=l=]?K =L<M

Options:
1 =

2.«
3=
4 =

Question Number : 115 Question Id : 6806791615 Question Type: MCQ
Correct: 1 Wrong: 0

\Bod @iy Saogcmod® K= H'b Spham drysr (S3gs hod® o Md o°ad?
H=>I=J7K<L< M

Options:
1 =

2.«
3=
4 =

Question Number : 116 Question Id : 6806791616 Question Type: MCQ
Correct: 1 Wrong: 0

Directions: In this question there are two statements followed by two conclusions. You have to take the given
staternents to be true even if they seern to be at variance with cormmonly known facts. Read all the conclusions
and then decide which of the given conclusions logically follow from the given staternents.

Staternents: Somme letters are words,; All words are sentences.

Conclusions:

1. &ll sentences are letters.

2. &l sentences being words is a possibility.

Options:



1. Cnly 1

2 Cnly 2

2. EBoth 1 and 2 follow
4 MNone follows

Question Number : 116 Question Id : 6806791616 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 117 Question Id : 6806791617 Question Type: MCQ
Correct: 1 Wrong: 0
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which digit is placed on the opposite surface to the surface where 5 is present in the above cube?
Options:
1.2

2.6
304
4.1

Question Number : 117 Question Id : 6806791617 Question Type: MCQ
Correct: 1 Wrong: 0
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Options:
1.2
26
=4
4.1

Question Number : 118 Question Id : 6806791618 Question Type: MCQ
Correct: 1 Wrong: O

In a row of forty boys facing north, R is twelfth from the left end and T is eighteenth frorm the right end. How
mAany boys are betweenn K and T in the row??

Options:
1.10
2 12
313
4 11

Question Number : 118 Question Id : 6806791618 Question Type: MCQ
Correct: 1 Wrong: 0
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Options:
1.10
2 12
313
4 11

Question Number : 119 Question Id : 6806791619 Question Type: MCQ
Correct: 1 Wrong: 0

In a cormmittes there are six members of which there are three men Edward, Devesh and Ehupen) and three
wormen (Anita, Chandana and Farida). The members are sitting at the sides of a hexagonal table for
discussion. Mo two men are sitting adjacent to each other. Edward is to the left of Anita and is facing
“handana. Dewesh is in between Anita and Chandana. Farida is in between Edward and Ehupen. Wwho is
facing Farida?

Options:

1. Bhupen

2. Anita

2. Chandana

4. Devesh



Question Number : 119 Question Id : 6806791619 Question Type: MCQ
Correct: 1 Wrong: 0
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Options:

1. RS

o BAS

2 i lelala)

. 335

Question Number : 120 Question Id : 6806791620 Question Type: MCQ

Correct: 1 Wrong: 0

Directions: Study the following table carefully and answer the questions.
Students studying various subjects in four different colleges

College Arts Science Pharmacy Library
Science

A 354 459 256 99

B 2713 658 225 26

C 358 487 265 138

D 301 265 266 89

Wwhat is the difference between average strength per subject of colleges C and A7

Options:
1. 20
2. 25
o 24
4 21

Question Number : 120 Question Id : 6806791620 Question Type: MCQ

Correct: 1 Wrong: 0
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College Arts Science Pharmacy Library Science
A 354 459 256 99
B 275 658 225 56
C 358 487 265 138
D 301 265 266 89
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Options:
1. 20
2. 25
o 24
4 21

Question Number : 121 Question Id : 6806791621 Question Type: MCQ

Correct: 1 Wrong: 0

Directions: In the question given below, there is a staternent followed by two assumptions nurmbered () and
(1. An assumption is something supposed or talken for granted. You have to consider the staterment and the

given assumptions and decide which of the assumption(s) is/are irmplicit in the statement.

Staterment: Attend serminar to know how to earn money from You Tube’ - an advertisement.

Assumption I It is possible to earn money from “You Tube”

Assumption [I: People are interested to earn money from possible sources.

Glve answer:

Options:

1. If only assurnption (1) is irmplicit.
2. If only assumption (1) is implicit.
2. If neither ) nor (I} is irmplicit.

4 If both Tyand {I) are implicit.

Question Number : 121 Question Id : 6806791621 Question Type: MCQ

Correct: 1 Wrong: 0
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Question Number : 122 Question 1d : 6806791622 Question Type: MCQ
Correct: 1 Wrong: 0

Directions: In the question given below there is a staternent followed by two courses of actions numbered 1 and
II. & course of action is a step or adrministrative decision to be taken for improvement, follow-up or further
action in regard to the problerm, policy, etc. On the basis of the information given in the statermnent, you have to
assume everything in the staterment to be true, and then decide which of the suggested courseis) of action
logically follow(s) for pursuing.

Staternent: The meteorological department has issued a notification forecasting less rainfall during next year’'s
TTIOTS00T.

Course of Action I The farmers should be adwvised to be ready for the eventuality.
Course of Action II: The government should make arrangement to provide water to the affected areas.

Give answer:

Options:

1. If only Course of Action () is suggested.

2. If only Course of Action (1) is suggested.

2. If neither Course of Action ) nor Course of Action (0)is suggested.
4. If both Course of Action 1) and Course of Action 1) are suggested.

Question Number : 122 Question Id : 6806791622 Question Type: MCQ
Correct: 1 Wrong: 0
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Options:

1 $50,000

5 $40.000

2
3 $20,000

4 $10.000

Question Number : 123 Question Id : 6806791623 Question Type: MCQ
Correct: 1 Wrong: 0

Directions: In the question given below there is a pair of events [ & II). You have to read both the events (1) and
{13; and then decide the nature of relationship (cause and effect) that exists between therr.

Ewent [ The governrnent has opened a termporary hospital rear Medarm during Sarmumakka-Saraklka bi-annual
celebraticns.

Evwent II: Devoteas in lakhs are expected to participate in the celebrations.

G1ve answer:

Options:

1. If () is the effect and [0) is its immediate and principal cause.

2. If ) is the immediate and principal cause and 11 is its effect.

3. If ) is an effect but 1) is not its immediate and principal cause.
4 If I} is an effect but () is not its immediate and principal cause.

Question Number : 123 Question 1d : 6806791623 Question Type: MCQ
Correct: 1 Wrong: 0
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Question Number : 124 Question Id : 6806791624 Question Type: MCQ
Correct: 1 Wrong: 0

EHR O Marketing ORD

2011 2012 2013 2014 2015
Years

Number of Employees(in 3 departments) in a company in five years

Directions: Study the abowve Bar diagram carefully and answer the question given below.
Wwhat is the percentage increment we find in the total number of employees in the given period?

Options:
1. 50
2. 25
3 B0
4. 75

Question Number : 124 Question Id : 6806791624 Question Type: MCQ
Correct: 1 Wrong: 0
Srden: & Lo aihd o6 doimFode (BarDiagram) 58880l B ddrorard) adtod.
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Options:
1. 50



2. 25
3. 60
4. 75

Question Number : 125 Question Id : 6806791625 Question Type: MCQ
Correct: 1 Wrong: 0

Total Income = Rs. 40,000

Saving 20%

House Rent 30%

Miscellaneous
15%

Travelling Food 75%

Percentage Break-up of Monthly Income of Mr. X'

Directions: Study the above pie chart carefully and answer the question given below:

what is the difference between the amount that is saved and the amount spent on house rent?

Options:

1. Rs. 4,000
2. REs. 5,000
> HEs 6,000
4 Rs.7,000

Question Number : 125 Question Id : 6806791625 Question Type: MCQ
Correct: 1 Wrong: O



Srides: $ Sod ailyd DogH (Pie chart) J88d0f \S4 50 Sdrgrad) afod.

woFe J0m X SBwE), I0s0 sorcho

Total Income = Rs. 40,000

Saving 20%

House Rent 30%

Miscellaneous
15%

Travelling
10%

Food 25%

o) Bod F0s708 a08d ©FKH Sofy Sgego Jog?
Options:
1. Es. 4,000
z Rs. 5,000
2 Es 5,000
4, Rs.7,000

Question Number : 126 Question Id : 6806791626 Question Type: MCQ
Correct: 1 Wrong: O

Directions: Study the following table carefully to answer the question that follows.

The digits from 0 to 9 are coded as shown below with the exceptions that follow.

Digit 3 2 8 0 2 5 4 b 1 7

Code % : @ < H A S > & =

Exception [: If a number begins and ends with an odd digit, the first and the last digit are to be coded as ¥ and
# respectively.

Exception II: If a nurmber begins and ends with zero or an even digit, the first and the last digits are to be
coded a5 & and A respactively.

What is the code for 2249103285807
Options:
1 HFES T+

o @WHS*+<W>"><
HES*+<=W =<

@#HS*+<%>A>A



Question Number : 126 Question Id : 6806791626 Question Type: MCQ
Correct: 1 Wrong: 0
wf & riel” 0 dood) 9 S8 o) witen & Lob o orahaEon.

Digit 3 9 8 0 2 5 4 b 1 7

Code % = @ < # A ) > +

SdFoorody-I al E’JGQJEET‘ Tooddd Hoboin D50 Sofes D6 @ond © Do
woBody S5 T S8cin E of drdodd.

adFFono-IT: wE }’J-:ua-:uae_'i”‘ Soses Soboin D58 2oBen H8 Bond ST B0y )
8 Bodk BoBods SH5HT @ Sbdho N ef Hrdod.

&y B goiiel” 224910385680:3: oder ArflowTa?

Options:

1 ##ES T+

o MES*F+=<% =" >

3 HHES T +<=0p M=«

4 @HES*+<%>rnn

Question Number : 127 Question Id : 6806791627 Question Type: MCQ
Correct: 1 Wrong: 0

Inn a certain code language NALGONDA 15 written as "OCMIPFEC. How 15 "WARAMNGAL” written in that code
language?

Options:

1. XDSCOIEM

2. HCSCZIOEM

3. XCSCOIBEM

4, XCRZOINE

For the above question, User had specified 'full' during keys upload.

Question Number : 127 Question Id : 6806791627 Question Type: MCQ
Correct: 1 Wrong: 0

es §°6 graied® 'NALGONDA'S "OCMIPPEC' C:'_'_Eﬂ, = et WARANGALR Jer Trosrd?
Options:
1. XDSCOIEN
2. HCSCIOBM
3. HCSCOIEM

4, XCSCOIME
For the above question, User had specified 'full' during keys upload.

Question Number : 128 Question Id : 6806791628 Question Type: MCQ
Correct: 1 Wrong: 0

In the following sequence of alphabets, which letter would be the sixteenth from left if all the wowels
interchange their positions with their succeeding letters?

ABCDEFGHI JELMMNCOPORSTUYWEYZ



Options:
1. K
N
3N
4, 0

Question Number : 128 Question Id : 6806791628 Question Type: MCQ
Correct: 1 Wrong: 0

H 8ol il .;":.g;ﬁ:-@ej“s w0 It Sdoars 53_:, Sregen Sdng 53?5&&
Dog008, JdS B0 165 THos® & vEdo Hotvobd.
ABCDEFGHIDETLMNOPQRESTUVWEY

Options:

1. K

z2 P

3N
4. O

Question Number : 129 Question Id : 6806791629 Question Type: MCQ
Correct: 1 Wrong: O

A& wessel contains 100 coins of five different colours, each colour contributing 20 coins. Coins of four colours
weigh one gram each. Coins of the remaining colour weigh 0.9 gram each. If we use a balance and suitable
measuring weights, then what is the minirmum number we need to weigh to find out the colour of the coins
that weigh 0.9 gram?

Options:

1. Four tirmnes
2. Three tirmes
3. Twrd tirnes
4. Cne tirne

Question Number : 129 Question Id : 6806791629 Question Type: MCQ
Correct: 1 Wrong: 0

2.8 SES° oheH 20 S5y pd Sorbes Bobd 100 FHwo Eud. Twah dohosH Bodd T
25988 wf |Tin 06l SI00. DAdE SokE Bodd THwo 1.E5H 0.9 rn n6d) eT)ow.
T80 Ho8030 2l Srdiored e3@rioSotr J o TEOl 8508 06Hs) &IEr

ﬁgomoﬁiﬁ“&)é E’;"Z‘J%oﬁ“ wtlyartn Srgrd?

Options:

1. Four tirmes
2. Three times
3. Twrd tirnes
4. One time

Question Number : 130 Question Id : 6806791630 Question Type: MCQ
Correct: 1 Wrong: O
Which narmber should Corme in the place of question mark in the fDllOWiﬂg Seriesy

10, 15, =20, 75, 225, 7/
Options:
1 7ar.5



2. 7B7.5
3. 7575
4 7475

Question Number : 130 Question Id : 6806791630 Question Type: MCQ
Correct: 1 Wrong: 0

god 2y Sond 85 (Number Series)ds” SBTgs %éoeﬁ'g i S:5087?
10, 15, 30, 75, 225, 7

Options:

1. 7875

2. FTET G

= 7BV .G

4 7475

Question Number : 131 Question Id : 6806791631 Question Type: MCQ
Correct: 1 Wrong: 0
Identify the correctly spelt word armong the following.

Options:

1. Enterprensurship
2. Enterprenuership
3. Entreprenueship
4. Entreprenseurship

Question Number : 131 Question Id : 6806791631 Question Type: MCQ
Correct: 1 Wrong: 0

Identify the correctly spelt word among the following.
Options:

1. Enterpreneurship

Z. Enterprenuership

2. Entreprenueship

4. Entreprensurship

Question Number : 132 Question Id : 6806791632 Question Type: MCQ
Correct: 1 Wrong: 0
Identify the meaning of the idiom "butterflies in the stormach’

Options:

1. Excited

2. Depressed
2. Nervous
4. Hungry

Question Number : 132 Question Id : 6806791632 Question Type: MCQ
Correct: 1 Wrong: O
Identify the meaning of the idiom "butterflies in the stormach’

Options:

1. Excited

2. Depressad
. Nervous
4 Hungry



Question Number : 133 Question Id : 6806791633 Question Type: MCQ
Correct: 1 Wrong: 0
Identify the grammatically wrong sentence among the following.

Options:

1. The virtue has its owrl reward.

2. Tweelve inches make a foot.

Z. The only one who can make a perfect cake is vou.
4. He is a honest persorn.

Question Number : 133 Question 1d : 6806791633 Question Type: MCQ
Correct: 1 Wrong: 0

Identify the grarmmatically wrong sentence among the following.
Options:

1. The wirtue has its owtl reward.

2. Twelve inches make a foot.

=. The only one who can make a perfect cake is vou.

4. He is a honest persorn.

Question Number : 134 Question Id : 6806791634 Question Type: MCQ
Correct: 1 Wrong: 0

The following sentence is divided in to four parts. Identify the part in which there is error.
The agreement on (1) [ which all of us hawve (2) | worked so hard will (2) | be
Sigrl tornorrowr (4).

Options:
1.1
2 3
32
4 4

Question Number : 134 Question Id : 6806791634 Question Type: MCQ
Correct: 1 Wrong: O

The following sentence is divided in to four parts. Identify the part in which there is error.
The agreement on (1) [ which all of us hawve (2) | worked so hard will (3) | be
S1EN tormnorrowe (4).

Options:
1.1
2.3
32
4 4

Question Number : 135 Question Id : 6806791635 Question Type: MCQ
Correct: 1 Wrong: 0

The following sentence is divided in to four parts. Identify the part in which there is error.
Very few young trainees (1) | willingly undertake (2) | a posting to a branch (3) |
located of a rural areal4).

Options:
1. =

2.z
2.1
4. 4



Question Number : 135 Question Id : 6806791635 Question Type: MCQ
Correct: 1 Wrong: 0

The following sentence is divided in to four parts. Identify the part in which there is error.
YVery few young trainees (1) | willingly undertake (2) | a posting to a branch (3) |
located of a rural areaid).

Options:
1.3
22
3.1
4. 4

Question Number : 136 Question Id : 6806791636 Question Type: MCQ
Correct: 1 Wrong: 0

What should I ________ to the party tonight?

Options:

1. wmare

2. where

3 were

4. wrar

Question Number : 136 Question Id : 6806791636 Question Type: MCQ
Correct: 1 Wrong: 0
What should 1 to the party tonight?

Options:
1. wmare
2. where
3. were

4 wear

Question Number : 137 Question Id : 6806791637 Question Type: MCQ
Correct: 1 Wrong: O

Arjun was a better spealeer than his brother.
Select one of the following sentences with meaning similar to the above sentence.

Options:

1. Arjun’s brother is not a better speaker.

2. Arjun’s brother was not a better spealer.

3. Arjun’s brother was not so good speaker as Arjurn was.
4. Arjun’s brother was not a5 good as Arjur.

Question Number : 137 Question Id : 6806791637 Question Type: MCQ
Correct: 1 Wrong: 0

Arjun was a better spealer than his brother,
Select one of the following sentences with meaning sirmilar to the above sentence.

Options:

1. Arjun’s brother is not a better spealker.

2. Arjun’s brother was not a better spealker.

3. Arjun’s brother was not so good speaker a5 Arjun was.
4. Arjun’s brother was not as good as Arjun.

Question Number : 138 Question Id : 6806791638 Question Type: MCQ



Correct: 1 Wrong: 0
Identify the word that is opposite in meaning of the word TNADVERTENT'.

Options:

1. adequate
2. availakle
. irtentional
4. negligent

Question Number : 138 Question Id : 6806791638 Question Type: MCQ
Correct: 1 Wrong: 0

Identify the word that is opposite in meaning of the word TNADVEETENT'.
Options:

1. adequate

2. awvailable

2. intentional

4 negligent

Question Number : 139 Question Id : 6806791639 Question Type: MCQ
Correct: 1 Wrong: 0

Identify the most appropriate meaning of the word ‘TNCEPTION'.
Options:

1. encurnter

2. skilful

3. COCelve

4. start

Question Number : 139 Question Id : 6806791639 Question Type: MCQ
Correct: 1 Wrong: 0

Identify the most appropriate meaning of the word TNCEPTICN .
Options:

1. encurmnber

2. skilful

2. concejve

4. start

Question Number : 140 Question Id : 6806791640 Question Type: MCQ
Correct: 1 Wrong: 0

_______ in the company for many years, he knew everyone and everything.
Options:

1. Hawving working

2. Hawing worled

3. Worked beer

4. Been worked

Question Number : 140 Question Id : 6806791640 Question Type: MCQ

Correct: 1 Wrong: O

_______ ir1 the company for many years, he knew everyone and everything.
Options:

1. Having working

2. Hawing worked



3 Worked been
4. Been worked

Question Number : 141 Question Id : 6806791641 Question Type: MCQ
Correct: 1 Wrong: 0

My friends encouraged me for this job.

Options:
1. apply

Z toapply
3 in apply
4. applying

Question Number : 141 Question Id : 6806791641 Question Type: MCQ
Correct: 1 Wrong: O

My friends encouraged me for this job.

Options:
1. apply
2. toapply
3. in apply

4. applving

Question Number : 142 Question Id : 6806791642 Question Type: MCQ
Correct: 1 Wrong: 0

The beep sound reminded me
Options:

1. turn off

the washing machine,

2. to turn off
2 turning off
4. for turning off

Question Number : 142 Question Id : 6806791642 Question Type: MCQ
Correct: 1 Wrong: 0

The beep sound rerninded me the washing rrachine.

Options:

1. turn off

2. to turn off
2. turning off

4. for turning off

Question Number : 143 Question Id : 6806791643 Question Type: MCQ
Correct: 1 Wrong: 0

Identify the gramrmatically correct sentence.

Options:

1. Mo other boy is as taller as Subhash.

2. Gold is one of the more precious metal.

=. Mohar is the voung boy in the class.

4. The meteorological department savys “this vear, Hyderabad will face the hottest surmmer in the decade”.

Question Number : 143 Question Id : 6806791643 Question Type: MCQ
Correct: 1 Wrong: O



Identify the grarmmatically correct sentence.

Options:

1. Mo other boy is as taller as Subhash.

2. Gold is one of the more precicus metal.

3. Mohar is the young boy in the class.

4. The meteorological department says “this year, Hyderabad will face the hottest surmmmer in the decade”.

Question Number : 144 Question Id ;: 6806791644 Question Type: MCQ
Correct: 1 Wrong: 0

Fill the gap with appropriate question tag.

The servarnts hawe rot closed the doors, 7

Options:

1. hawven't they
2. hawve they

3. didn't they
4. did they

Question Number : 144 Question Id : 6806791644 Question Type: MCQ
Correct: 1 Wrong: O

Fill the gap with appropriate question tag.

The servants hawve not closed the doors, !

Options:

1. hawven't they
2. hawve they

3. didn't they
4. did they

Question Number : 145 Question 1d : 6806791645 Question Type: MCQ
Correct: 1 Wrong: 0

Fill the gap with appropriate question tag.

Aravind has rot corme horme, ?

Options:
1. did he
2. ishe
=. has he
4. had he

Question Number : 145 Question Id : 6806791645 Question Type: MCQ
Correct: 1 Wrong: 0

Fill the gap with appropriate question tag.

Aravind has rot corme horre, 7

Options:
1. did he
2. 15 he
= has he
4. had he

Question Number : 146 Question Id : 6806791646 Question Type: MCQ
Correct: 1 Wrong: O

Identify the choice that cannot fit in the blank.
The gir] will 111 the gardern.



Options:

1. play

Z. plays

3. be playing
4, hawve to play

Question Number : 146 Question Id : 6806791646 Question Type: MCQ
Correct: 1 Wrong: 0

Identify the choice that cannot fit in the blank.
The gir] will inn the gardern.

Options:

1. play

2. plays

3. be playing
4. hawve to play

Question Number : 147 Question Id : 6806791647 Question Type: MCQ
Correct: 1 Wrong: 0

Identify the choice that cannot fit in the blank.
India the cricket match.

Options:
1. has won

2. WOl
3. lost
4. has bearl winmning

Question Number : 147 Question Id ;: 6806791647 Question Type: MCQ
Correct: 1 Wrong: 0

Identify the choice that cannot fit in the blank.
India the cricket match.

Options:

1. has wmon
2. wrOrl

2. lost

4, has beer winning

Question Number : 148 Question Id : 6806791648 Question Type: MCQ
Correct: 1 Wrong: 0

Identify the choice that fits in the blank.
[ arn certain you hawve a rmistake.

Options:

1. make

2. made

3. making

4. had made

Question Number : 148 Question Id : 6806791648 Question Type: MCQ
Correct: 1 Wrong: 0

Identify the choice that fits in the blank.

[ am certain vou have a rristake.

Options:



1. make

2. made

3. making

4. had made

Question Number : 149 Question Id : 6806791649 Question Type: MCQ
Correct: 1 Wrong: 0
The ng was 50 derse that one could hardly see _________ it.

Options:
1. of

2. through
2. into
4. it

Question Number : 149 Question Id : 6806791649 Question Type: MCQ
Correct: 1 Wrong: 0
The fog was so dense that one could hardly see it.

Options:

1. of

2. through
3. Anto

4. 1t

Question Number : 150 Question Id : 6806791650 Question Type: MCQ

Correct: 1 Wrong: 0

Identify the nearest meaning of the underlined word in the following sentence.
The boss praised Raju for his commitment.

Options:
1. adrired
2. insulted
o, awarded
4. fired

Question Number : 150 Question Id : 6806791650 Question Type: MCQ

Correct: 1 Wrong: 0

Identify the nearest meaning of the underlined word in the following sentence.
The boss praised Raju for his commitment.

Options:
1. admired
2. insulted
3. awarded
4. fired



